asym_usl

asym_dsl

asym_usr

asym_dsr

10000
, —13(
. n
ﬂ_
5000
10000
_ -
_IIIIII||IIIIIIIII|||||||||||||||||||||||||||||| D
50 -40 -30 -20 -10 © 10 20 30 40
diff_bpmXum
difL
— —10C
1500 |-
1000 |- sor
500
- —B0(
of
. B
- 400
- n
—E-I}D_—
- 200
-1000 -
: [ | | [ |
.15[:”:'_IIIIIIIIIIIIIIIIII||||||||||||||||||||||||||||| D

-50 40 -30 -20 -10 O 10 20 30 40
difi _bpm1Xum

[ |
—12(
10000 —
5 — 100
S000 —
D_
[ =
5000 —
B |
10000 prvrbvenabvvr berer v b v b bnaa b o

-50 A0 30 20 10 O 10 20 30 40
diff_bpm1Xum

l
B —
- —a0(
1500 |
- —80¢
1000
- —701
N
00—
of
-500 |
1000 |
~1500 - 100
-||||||||||||||||||||| ||||||||||||||||||||||||

run6596_000_re OTracciNnny

oression ™ "“"‘a“SVIl'l main

10000
5000
ﬂ_
5000
| - - 201
10000
i n
_|||||||||||||||||||||||||||||||||| ﬂ
a0 -20 10O 1 20 a0
diff_bpmdaYium
d.
—80C
1500 [
. —700
1000
B —{ 600
500 —501
o =
[ =
=500
~1000
_.15[:”:'_ ||||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 30
diff_bpmda/um

diff_bpmdaY

e REH
10000 —
B - [ | [ |
| — {800
L0000
D_
- W
5000 —
1HDDD_|||||||||||H.||||||||||||||||||||| 0

30 -20 -10 0 10 20 30
diff_bpmda¥ium

5000

=5000 —

10000

50 -40 -30 -20 -10 O 10 20 30 40
diff _bpmdeX/um

d

1500

P
E

1000

200

=500

=1000

| | |
~1E800 IIII|IIII|IIII|IIIIIIIIIlIIIIIIIIIlIIII|IIII|II

50 -40 -30 -20 10 0O 10 20 30 40
diff_bpmdaX/um

diff_bpmdeX

10000 —

5000

5000 —

|
10000 prrrbvrrebrvor bveesbvrre bevrr b b bvnaal

50 -40 -30 -20 -10 O 10 20 30 40
diff _bpmdeX/um

l- I-
z oo z
1500 |- 1500 -
B — 700 B
1{?00:— —aor 1DDD:—
B C m

i m 00—
oF oF
—ErI}D:— - —E-I}D:—
1000 | 1000 |
-1500:— u ~1500 -
B |||||||||||||||||||_|_|||||||||||| B

T —T —T ]

100

80C

120

100

200

100

80C

-
N

10000 —

5000
ﬂ_

=5000 —
- [ | |

10000 —
B [ |
sl b b b b
=30 =20 =10 1] 10 20

diff_bom4eY/um

91

1000

500

=500

= 1000

"

_1500IIIIIIIIIlIIIIlIIII|IIII|III

=30 =20 =10 1] 10 20
diff_bpmday/um

diff_bpm4eY

10000 —

5000

=5000 —

I T A N N O O A OO A B B
H}Dnnﬂ-ﬂ' 20 =10 1] 10 20

diff_bpmdaY/um

diff _ hpméleY

1000

500

LIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-20 =10

100

800

200

700

600

500

100

80C

800

700

600

500

“Dostpan.png

10000 —{z2¢
. —{=0c
- —{18(
5000
i —{16¢
i —{14(
or 120
i 100
~5000 BO(
- BOC
- - 400
10000
N [ | [ | I
_I L1l | 1111 | 111 | 1111 | 1111 I 1111 | L1111 | 1111 ﬂ
~200 -150 -100 <50 O 50 100 150 200
diff_bpm12X/um
difL
1500
. —{10¢
1000 -
- —laoc
500
- |
- BOC
o
i 40(
=500 g
~1000 200
B - u
15':' _I L1l | L1l | | | | L1l | L1l I L1l | L1 1l | L1l ﬂ
00 -150 -100 -50 O 50 100 150 200
diff bpm12X/um
diff_ bpm12X
- —{z00
10000 B s
I —{180
5000 —{14¢
- —12¢
- 100
D_
i BOC
i BOC
~5000
I 400
I 200
i F u
1[“:“] SENESEENEEEEEEEEENE R EERE RN NN NI NEEE 0

00 -150 -100 -50 O 50 100 150 200
diff_bpm12X/um

-
1500 [ —10
1000

N —800
500
[ BOC
II]_— u
_500 :— 401
~1000 |
N 201
~1500 [~
_I 111 | 1111 | 1111 | 111 I.l 1111 I 1111 | 1111 | 1111 ﬂ

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

| — 100
4000

, —{anr
2000

ﬂ_
2000
4000

| n
—E'DDD _||||||||||||||||||||||||||||||||||||||||||||||| D

=50 -4l =30 =20 =10 0 10 20 30 40
diff_bpmXum

diff

I
- —{101
1500 [~
1000 [~ —aoc
EI}EI_—
[ —{sor
op
[ = 400
- [ |
—E-I}D_—
| 200
1000 -
: [ | | [ |
15':”:' _IIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII|IIII|II D

-50 40 -30 -20 -10 O 10 20 30 40
difi _bpm1Xum

diff_bpm1X

— 900
4000 [ oot
i —70(
2000 —
=
D_
2000 —
4000 —
_|||||||||||||||||||||||||||||||||||||||||||||||

-50 —A0 30 20 10 O 10 20 30 40
diff_bpm1Xum

| —
B — 200

1500 |-
n —(80(

mnn:— -
. N

500 —{60C
0

-500 |

1000 |

~1500 - 100
-IIIIIIIIIIIIIIIIIII|I I|IIII|IIII|IIII|IIII|II

run6596_000_re OTracciNnny

oression-reg m

4000 —

2000 —

=2000 —

=4000

II|IIII|IIII|IIII|IIII|IIII|IIII|I
~6000 -30 -20 -10 0 10 20 a0 o

diff_bpmda¥ium

diff

- — 800
1500 [

- —{701
1000

- —lgoc
500 - —ls00

: |

o =

L W
500

i ]
~1000
_.15[:”:'_ ||||||||||||||||||||||||||||||||

=30 =20 =10 1] 10 20 30
diff_bpmda/um

diff_bpmdaY

4000 —

2000

=2000 —

-4000 — I.I

IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|II
60005, %0 a0 20 10 0 10 20 30 40
diff _bpmdeX/um

di

1500

F
E

1000

200

=500

=1000

| | |
~1E800 IIII|IIII|IIII|IIIIIIIIIlIIIIIIIIIlIIII|IIII|II

50 -40 -30 -20 10 0O 10 20 30 40
diff_bpmdaX/um

diff_bpmd4eX

—{ 800
i m i
4000 | -7 4000
N —eor N
E-I}DU_—. E{}DD_—
| | W
o o
2000 — 2000 —
I 0 I
4000 — .. 4000 —
_|||||||||||||||||||||||||||||||||| _|||||||||||||||||||||||||||||||||||||||||||||||
=30 20 =10 1] 10 20 an 50 -40 =30 =20 10 O 10 20 30 40
difi_bom4aYium difi_bpm4eX/um
.' !.lji
- - I
N il N
1500 |- 1500 -
i —{ 7L i
1-DDU:— —eoc 1{?00:—
C C m
H I 00—
of of
_so0 ~500 |~
1000 | 1000 |
~1500 [~ ~1500 -

IIIII|IIII|IJ_LI|IIII|IIII|IIII|I

aindet-v$ diff Bpm-€

100

80C

100

800

100

80C

100

80C

- POS

—BoC
4000
I —700
2000 | 50t
ﬂ_
_ap00
~4000 |-
a N
_E.DDD_IIIIIIIlllllllllllllllllllll D
~ap 20 10 0 10 20

diff_bom4eY/um

d.
1500
—| 700

1000

500

=500

= 1000

"

_1500IIIIIIIIIlIIIIlIIII|IIII|III

=30 =20 =10 1] 10 20
diff_bpmday/um

diff_bpmdeY

i [
I - —70(
[ |
4000
| —60t
2000 — —{500
D_
2000
4000 —
_||||||||||||||||||||||||||||
~30 20 =10 1] 10 20

diff_bpmdaY/um

diff hpméleY -

1500

— 700

1000

500

-500

= 1000

= 1500

==
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-20)

fpan—mnrn o

B —{12(
4000 —
- — 101
2000
i —{80¢
D_
B B0
2000 —
B 400
4000 — 200
| [ |
'E-'I}EI _I L1l | 1111 | 111 | 1111 | 1111 I 1111 | L1111 | 1111 ﬂ
00 =150 =100 =50 (1] 50 100 180 200
diff_bpm1 2%/um
difL
| L
1600 u
B [ | [ | — 100
1000 -
- — {800
500 N
- [ W | [ | BOC
of -
i u 400
~500 ™
B 200
= 1000 N
B - u
15':' _I L1l | L1l | | | | L1l | L1l I L1l | L1 1l | L1l ﬂ
00 =150 100 =50 (1] L) 100 180 200
diff_bpm12X¥/um
diff
i 10
4000
- —80c
2000 —
: BOL
o |
B 400
2000 —
B 200
4000 —
_||||||||||||||||||||||||||||||||||||||| 0
200 =160 100 =50 1] B0 100 180 200
diff_bom1 2%/um
-'
1500 | —10
1000
" —{ 800
500
N 0L
ﬂ_— [ |
_5on 400
~1000
[ 200
~1500 [~
-I L1l | 1111 | 111 | 111 I.l 1111 I 1111 | L1111 | 1111 ﬂ

-200 =150 -100 -50 1] 50 100 150 200
diff_bpm12X/um



diff_bpm1X diff_bpmdaY diff_bpmdeX diff_bpmdeY  diff_bpmI12X

4000 1~ ¥2 / ndf 26.7 /30 %2/ ndf 25.99/ 36 [ %2/ ndf 31.18/29 %2 / ndt 56.83 / 36 . L %2 / ndt 23.45/ 25
L - 3000 - T T
- h p0 —8.886 + 6.991 p0 -8.501+x6.778 {hH N - p0 -8.421+7.018 p0 -8.885 + 6.636 - h p0 -3.696 + 4.354
2000 | Wt f b Hﬂ s000 [ fu,
| J HHJF p1 -32.2xt11 p1 85.84t£1.16 { - p1 —2/.8B5+1.13 p1 1184 £+ 1.4 r@“ M- ) i M, p1 -56.4 + 0.2
B Tl H t e 1000 [ _ [ : I
II}_ ﬂ %\wﬂ}f - ] : i |,| ‘ ] of H ol
i _ ) MH‘“ ~1000 |- }er F Il } i -
asym_usl L | - - il i | ﬂ
— 000 2000 — B H‘l m | = 2000 I Hi‘ i +"-I:..h
I : 1000 | | } L h ~5000 Hy
i ~3000 F - i - -
: . : - ~4000 |- i +h+
so00 | ool ~2000 |- L - I 1
i . - - 6000 - 10000
_|IIII|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|II _EDDD-Tllll_IllllllI|IIII|IIII|IIII|IIII|I _EIDDD IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _IIIIIIIII|IIII|IIII|IIII|III _IIIIIIIII|IIII|IIII|IIII|IIII|IIII|II_II
50 -40 -30 -20 -10 O 10 20 30 40 30 -20 -0 0 10 20 30 50 -40 -30 -20 -10 O 10 20 30 40 -30 20 10 0 10 20 200 -150 -100 -50 © 50 100 150 200
diff bpmlX  diff bpm4aY = diff_bpmdeX diff _bpmdeY diff bpmli2X
¥ ndf 30.52 /30 %2/ ndf 32.68/36 K ¥2 ! ndi 27.9 /29 [ - ¥ | ndf 2259/ 36 w2 [ ndf 26.18 /25
200 i
pO —0.03021+ 1.19534 po -0.4808 £1.1910 B - { pO —0.02474 + 119667 400 [ { p0 —0.2986 £ 1.1943 po -0.6571£1.1922
100 - I
p1 0.08917 £ 018238 t p1 0.20891% 0.2050 ~ B ] p1 001871+ 018720 300 p1 —.01988 + 0.24555 pl 0.1124 £ 0.0505
) | A ey 3l | ] -
100 | [ 2007 y i - 1 [ ol HH%FWM 200 *
asym_dsl : - N i Ml | o Sl
san b T [ ' . | 100 |~ ' } { I ol f
y —_— 200 oF hjﬂf Hﬁ | _ ol ] : IJrh *‘fﬂm{
wof ook * —E{:D:— - | - 200 - {_
- . . 400 | - n i
-400 | i i i i -400 |-
n - 400 =300 _ I -
TIIII|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|II -|II|IIII|IIII|IIII|IIII|IIII|IIII|I -I-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _E,-[:ID—|IIIIIIII|IIII|IIII|IIII|III _ﬁ-DD-I—IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 0 10 20 30 40 a0 -20 -0 0 10 20 3D 50 -40 -30 -20 -10 O 10 20 30 40 T 20 10 D 10 20 “200 -150 -100 -50 © 50 100 150 200
diff _ diff _ diff diff Y diff
hpmlL _bpmdaY _bpmdeX _bpmde diff_bpm12X
%2 / ndf 20.23/ 30 ¥2 ! ndf 37.82 /36 ¥ 2/ ndf 23.45/29 12/ ndf 24.68 /36 {0000 = ¥2 ! ndf 30.87 /25
p0  -1.086 + 6.393 H p0 1.455 + 6.477 PO 0.02421 + 6.34970 p0  —0.2418 £ 6.3372 + 8000 - w p0 5.591+ 4.496
p1 79.37 + 0.99 ]l} p1 87.28+ 1.11 Ijh{w” % p1 86.13 + 1.01 + p1 119+1.3 } g F{I‘* p1 -51.32 +0.19
2000 - HW ] o - h = +1+++Jﬂf 4000 | *
; il : h : . : d
B H B u
i 1 - - : + 2000
i O . i n
asym usr D:_ } H ~1000 ;_ { h i‘t} ﬂ:_ D:_ D;—
— L ; N - - |- y - # ~2000
2000 — ‘| Hr}‘l'i. ~B000 [ o {h“ =2000 __ h H_fH.FH 2000 _T1]7 {} -I.'l'# = -
i M S i L ~4000 |- o 1-
4000 - M _.-mnn;— | -mnn:— - e000 |- -ﬁi}DD;— ﬁ ,
i —WDU:— } i : —E-I}UU:— i
T b brrvs b bove b b b berna L Dol ovaa o by by bevaa b aa g =000 b b borvs b bovs by b b b s g i N AN T T T T N T T N T I B OO Ty b by by by bvra by lra
50 -40 -30 -20 -10 O 10 20 30 40 a0 20  -10 0 10 20 30 50 -40 -30 -20 -10 O 10 20 30 40 -30 20 10 D 10 20 200 -150 -100 -50 © 50 100 150 200
diff_bpmilX diff_bpmdaY diff_bpmd4eX dlthpméleY diff bpmi2X
[ - %7/ ndf 37.37 / 30 ﬁm:_ ¥2 i ndi £8.85/ 36 i 1=/ ndf 3211729 ol ¥2 J ndf 21.48/ 36 ¥ | ndf 40.06/ 25
BOD i |- i
: p0 1.608 + 1.397 [ - p0 1125 + 1.395 T PO 1.423 + 1.399 wol p0 1089 + 1399 PO 1.253 + 1.393
i 400 i I
400 __ p1 _0.245 + 0.912 - p1 —0.05829 + 0 23696 400 B pi 02508+ 0.2175 E{;D:— } p1 —0.003373 + 0.285544 p1 01272 = 0.0588
i o0 | - L - =
! i } “ ] { I l “{ W| ' 200~ t
200 o } 200 - o ‘I-HH{W B } I_\
asym_dsr | | B i ;| _ a % | (1 ———
— - i ' - - 1 B - }} - 200 - + - - 1| | |
0 __ HMW =200 B 0 - i Wﬂ-l i { _ 300 -
I - } I | i ~a00 | | i
i - 400 - - ann -
-200 (- ' B r S MDZ }
N B i —'E-E'D_— R
-|IIII|IIII|IIII|IIII| IIIIIII|IIII|IIII|IIII|II -EIDD'I | I _E.DD_

run6596 000 resression asym maindet vs diff bpm-fit postpan.png """



=
=
.

diff bpm1X diff_bpmd4aY diff_bpmdeX diff_bpmdeY diff_bpm12X

32/ ndf 41.8/ 30 1500 F- %2 ndf 37.3/36 15'3"3;— } %/ ndf 34.94 / 29 1500 - %2 ¢ ndf 46.35/ 36 %2 | ndf 26.66 / 25
p0 1,839 + 4.087 ] mmf ] p0 -3.112 £ 4.077 1000 pO ~1.365 + 4.092 1000 - p0 2578 + 4.085 pO 4,521+ 4.076
0 - - - t
pl 0.001407 + 0.624668 : pl  —0.1357 £ 0.6979 500 & —0.08652 + 0.64242 e H{ pl  —0.7125 £ 0.8408 p1 0.1075 % 0.1731 I
500 — - - —pre
_ B - o -W?w ™ T ITT
500 - ¢ N [ | or {Jhﬁ"" T ’f'jtthH" ‘ : } H{W"} T : ‘ Hn
: { °F --Wﬁ*"‘“ pomvemari gL i : | soof |1 500 |-
N N | ~500 i - * E -
reg asym uS or {hf ﬁl}H } - ' | - 1000 - 1000 F-
— — B [ ~500 - ~1000 - : -
500 [ - - “1s00 ~1500 )
1000 _ ~1000 | ~1500 ;— - 2000 — ~2000 E—
1500 1500 2 -2000 | ~2500 |- - 2500 —
%IIII|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|II :|II|I_III|IIII|IIII|IIII|IIII|IIII|I IIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II :I 1 IIIIIII|IIII|IIII|IIII|III _IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 O 10 20 30 40 30 -20 -0 0 10 20 30 50 -40 -30 -20 -10 O 10 20 30 40 a0 -20 10 0 10 20 200 -150 -100 -50 © 50 100 150 200
diff bpmlX  diff bpm4aY  diff_bpmdeX diff _bpmdeY diff bpmli2X
I I B I E.DD_ I [
¥2 / ndi 30.98 / 30 ¥ { ndf 32.11/ 36 500 - ¥2 / ndi 27.7 /29 - ¥/ ndf 22,76/ 36 ¥ ! ndf 25.93 /25
po —0.007401 £ 1.104885 pO —0.4419 £ 11906 I - J p0 —0.00163 £ 1196253 400 B p0 -0.2528 £1.1939 pO -0.6197 £1.1918
100 |- - {
p 0.02762 £ 0.18229 Jf+ M } p1 0.05297 + 0.20489 - E I } P -0.03904 £ 01812 200 B pl —0.1103 £ 0.2454 p1 0.01724 + 0.05047
e _ B Wiy | T -
N B o ' _ i i
o [T IR | - | oL T
reg asym dSl - 300 :_ 0 __ - ‘| HWMi-‘} ~100 __ i |~ J : _ 'I:F:— #Hﬁwﬂ_ﬁ}m
— — : i | B - I-‘H‘ |'| | - : k —E‘D‘D__ - : | ‘|
- - i - _200 |
~300 200 { i L n *-
N | i -200 | a0 - ; _
4{?0:_ : B - : h _WD__
T ~400 - i " - - -
IIIIIlIIIIlIIIIlIIII|IIIIIIIIIlIIII|IIII|IIII|II '|II|IIII|IIII|IIII|IIII|IIII|IIII|I —.:'H}D'|_|III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II —E‘DD_I | IIIIIII|IIII|IIII|IIII|III TIIIIIIIIIlIIII|IIII|IIII|IIII|IIII|IIII
50 -40 -30 -20 -10 0 10 20 30 40 a0 -20 -0 0 10 20 3D 50 -40 -30 -20 -10 © 10 20 30 40 -an -20 10 D 10 20 200 -150 -100 -50 © 50 100 150 200
diff bpmlX = diff_bpmdaY diff bpmdeX diff_bpmdeY diff_bpml2X
%2 I ndf 19.09 / 30 oo b %2/ ndf 27.67 /36 %2 / ndf 19.5/29 eoob w2/indt 24.45/36 12/ ndf 3178/ 25
p0 5.185 + 4.075 1000 E po 4.941+ 4.065 p0 6.136 + 4.079 ' 1000 E | p0 5.249 + 4.076 pO 5.01+ 4.06
pl  0.9386 + 0.6246 500 - p1  -0.6407 = 0.6966 Pl 06644 = 0.6408 500 } pt  -1.209 +0.839 pl 001369+ 0.17236
N n - = [ | =
E - ) = . T R 1000 = 0F h*w##mﬁr*ﬁw”ﬁ ﬂH B ‘
1000 * ﬂ: Wﬁf {[JF]‘M” N - - H |JH | E Wl
reg_asym_usr o || I = |l | wall L R
T o : { s e ittt 1L f‘ “1000 i - }LW“,.,#_W .}i_h 1000 - hﬁ ) +H -
oE f Figf H : } °F . i g - - -
: ﬂl ]‘ _150[]:— N ]l + ~1500 -S00
—E-I}D:— N -500 E [
- - 000 - -1 - _
Ty b brrvs b bove b b b berna L Hooa v b by by bevaa b b b b bvrn b b bvnn Frvaa L cogpp e b Lo P v g Ly i o s b by by by bvsa by b
50 -40 -30 -20 -10 0 10 20 30 40 a0 20  -10 0 10 20 30 50 -40 -30 -20 -10 O 10 20 30 40 “a -20 10 D 10 20 200 -150 -100 -50 © 50 100 150 200
diff bpmlX diff bpmd4aY  diff _ bpmdeX diff _bpmdeY diff_bpm12X
%% | ndf 37.3/30 ¥Z [ ndf 29.16/ 36 %2 ! ndf 32.28/ 29 ¥ [ ndf 21.65 /36 Z i %% ! nolf 39.82 /25
600
p0 1.61+ 1.40 p0 1.135+1.394 ] p0 1.436 + 1.398 po 1.11 £1.40 - pl 1.252 = 1.383
p1 0.08302 + 0.21182 p1 0.163 £ 0.237 + p1 0.08228 + 0.21741 ) p1 0.2645 + 0.2854 mn:— o1 ~0.0008076 + 0.0587749
j : ” | | R i H]t ' 200~ | }
200 - . o W“H'-* N "'*'lﬂﬂw 200 - o WMM - Hw + [\ ,
reg_asym_dsr 3 o i i | (] | o - f |l -
L I B W [ E_DD__ i B w |‘ _E.DD_ : i 1 1 |
0 1 | TLMHW | F o |“1j+ 11 m } N W * -200 } }
I ' N i 400 - i
- _ e } -200 |- } - 400 -
“Eor i [ eoof 1 i
| - 600 — B B ~BO0
|IIII|IIII|IIII|IIII|I IIIIIII|IIII|IIII|IIII|II _I i

run6596 000 resiéssion tee maindet vé diff Bom-fit ‘postpanpng e




iff iff

10000 — 10000 — 10000 — 10000 — 10000 —
B000 B000 Bo00 B000 — B000
o o o o o
ASYII_US : : : : :
5000 — 5000 — 5000 — 5000 - 5000 —
10000 — 10000 — 10000 — 10000 — 10000 —
o b b b b Lo b b Lo L ol b b b Lo Lo a by Lo b b b b Lo b b Lo L T TN TN NN R NN NI T FE TR AN AT AN AT
=50 =40 =30 =20 =10 O 10 20 30 40 =30 =20 =10 1] 10 20 an =50 =40 =30 =20 =10 O 10 20 30 40 =30 =20 =10 (1] 10 20 =200 =150 =100 =50 (1] 50 100 150 200
diff_Bpm1Xium difi_bom4aYium diff_bpm4aX/um difi_bom4aYium diff_bpm12X/um
] .I]i .Iji ] .‘I]i
| I | | | I |
1500_— E ) 1500_— 1EDD_— 1500_— . . '15|:IU_—
1000 |- 1000 - 1000 |- 1000 |- 1000 -
500 [ 500 500 [ 500 [ 500
asym_dsl £ o & £ ;
500 |- 500 -500 |- -s00 | -500
1000 |- ~1000 ~1000 |- ~1000 |- : ~1000
o b b b b b bevs brva o b ol bv v bvr e brvaa by b o b Do b b b v b v bvva b b IR N T U T U N T O M A A A A o v b bvvsa b b by Lo
_1EDDE-D 40 =30 =20 =10 0 10 20 30 40 -1500 =30 20 =10 1] 10 20 a0 _1EDDE-D 40 =30 =20 =10 0 1m0 20 30 40 _“EI::“:].':'I--I::I 20 =10 (1] 10 20 '15U 00 =150 100 =50 (1] L) 100 150 200
difi _bpm1Xum difi_bpmda¥ium difi _bpmdeXsum diff _bpmdeium diff_bpm12X¥/um
. » . . ] I Y .
10000 |- _ 10000 |- _ 10000 |- _ 10000 |- _ 10000 |-
S000 — L0000 L0000 — S000 — L0000
asymn_usr °r oF of of oL
— i | | i |
5000 — 5000 — 5000 — 5000 ’ K000 —
H}DDD_||||||||||||.||||||||||||||||||||||||||||||||||| 1HDDD_||||||||||||.|||||||||||||||||||||| 1{}DDD_'”'l""l'."'l”"I""l""l""l”"l""l" H}Dnn_l|||||||.|||||||||||||||||||| 1[“:“] _||||||||||||||||||||||||||||||.|||||||||
50 40 =30 =20 10 O 10 20 30 40 =30 20 =10 1] 10 20 an 50 -40 =30 =20 10 O 10 20 30 40 ~30 20 =10 1] 10 20 00 <180 100 =50 1] B0 100 150 200
diff_bpm1Xium difi_bom4aYium difi_bpm4eX/um difi_bpmdaYium difi_bom12X/um
!.lji L 1 [ ] [ ] L 1
- - I - I . I n L
1500 | 1500 | 1500 | 1500 [ 1500 |
1000 | 1000 | 1000 | 1000 | 1000 |
500 | 500 500 | s00 | 500
asym_dsr T T ' T T T |
-500 | 500 -500 | -500 | ~500
1000 | 1000 | 1000 | 1000 | 1000 |
~1500 - ~1500 [~ s ~1500 - ' ~1500 [~ ~1500 [~ _
B B B [ 111 T b b b bvrea s bvvaa ba o

run6s 96_000_1'62i"é8810nmasvm fnalndeéf‘_mvs_dﬁ?ﬂprmwscat_postpan png 0 R



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

run6596 000 re

4000

2000

=2000

=4000

~6000

-50 -40 -30 -20 10 O 10 20 30 40

1500

1000

500

=500

=1000

=1500

diff_bpmXum

50 -40 -30 20 10 0O 10 20 30 40

4000

2000

=2000

-4000

difi _bpm1Xum

-50 -40 -30 -20 -10 0O 10 20 30 40

1500

1000

500

-500

=1000

=1500

diff_bpm1Xum

-50 40 <30 -20 -10"0 10 20

oression-reg

4000 4000
2000 2000
ok =
~2000 ~2000
~4000 [ T ~4000
i I|IIII|IIII|IIII|IIII|IIII|IIII|I _IIII|IIII|IIII|IIIIIIIIIlIIIIIIIIIlIIII|IIII|II
~6000 -30 -20 -10 0 10 20 a0 'EDDDE{: 40 =30 =20 10 O 10 20 30 40
diff_bpmdaYium diff_bpmdeX/um
™ l[bf
| I |
1500 [~ 1500 [~
1000 - 1000 |-
500 500 [
of- op
-500 -500 |-
~1000 ~1000 |-
_1500_ _1EDD_IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|II
50 -40 -30 -20 -10 0 10 20 30 40
diff bpmda¥ium diff bpmdeX/um
™ ®
4000 [ NI 4000 |- '
2000 2000 -
ok =
~2000 |- ~2000
~4000 |- ~4000 |
] _|||||||||||||||||||||||||||||||||||||||||||||||

1500 —

1000

H I

=500 —

~1000

=1500 =

diff_bpmda¥ium

1500

1000

500

- 500

=1000

=1500

IJ_LIlII III|I

=30 {}

alll

det-vs dif

-50 -40 -30 -20 10 O 10 20 30 40

diff _bpmdeX/um

IIII|IJ_I_I|IIII|IIIIIIIII|IIII|IIII|IIII|IIII|II

“bpm-scat pos

4000 —

2000

=2000 —

=4000

11 1
'ﬁmn:m -20 -10 0 10 20

diff_bom4eY/um

1500

1000

S00 -

500

=1000

_1EDD_IIIIIIIII|IIII|IIII|IIII|III

=30 =20 =10 1] 10 20
diff_bpmday/um

iff bpmdeY

4000

2000 —

=2000 —

4000 —

-30 20 10 0 10 20
diff_bpmdaY/um

1500 [~

1000 =

00—

-500

~1000

=1500

-2{) -10

pan.png-

4000

2000

=2000

=4000

=~ BO0I

00 ~150 -100 =50 1] 50 100 150 200

diff_bpm12X/um

1500

1000

200

-500

=1000

=150

4000

2000

=2000

-4000

200 <150 100 -50 1] 50 100 150 200

1500

1000

200

- 500

=1000

=1500

-200 =150 -100 -50 1] 50 100 150 200

00 150 100 =50 1] 50 100 150 200

diff_bpm1 2X/um

diff_bpm12X/um

diff_bpm12X/um



